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Question 1: (5 points)

Choose the correct answer, write your answer in the table below:

1. Which of the following is not a true statement :

a) —3<-3 b) —-3<-3 c) -3>-3 d) -3=-3
2. The slope of the horizontal line is :

a) 1 b) -1 c) 0 d) Not defined
3. LCM(X* =9,(x+3)%) = is:

a) (x+3)*(x-3) b) (x* —9)(x+3) c) x+3 d) (x+3)(x-3)
4. The solution set for the equation x* =—4:

a) {22 by {44} c) {-16,16} d ¢
5. The result of (5x2y3)2 is:

a) 256x'y° b) 10x‘y® c) 25x*y° d) 25x°y°
Question 1 2 3 4 5
Answer B C A D C
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Question 2: (5 points)
Determine whether each statement is true or false:

1. The product of an even numbers of negative numbers is negative...... Forenniln

2. Some Equations have no solutions...... T......

3. The x—and y—intercepts of y =mX are both (0,0)...... T......

4. Every Polynomial with four terms can be factored by grouping...... F...

5. All Trinomials are Polynomials...... T.......

Question 3: (4 points)
1. Factor completely x*—y*

Sol:
x'—yt=(x?-yH)x*+y?)
=(X —y)X +y)x*+y?)

t? . t? -3t
t2—4  t>-5t+6

2. Perform and simplify:

Sol:
-3 t*  t°-5t+6
t2—4 t?-5t+6 t2-4 t?-3
txt  (t-3)-2)_ t

T(-2)(+2) t(t-3 t+2
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Question 4: (4 points)

Solve the following Equation and Inequality:

1. 3x*-10x=8
Sol:
3x*-10x —8=0
Bx +2)(x —4)=0
33X +2=0 X —-4=0
x:—Z X =4
3

Solution set :{—%,4}

2. §+%£2x+1
6 8

Sol:

24(5+5—Xs 2x +1j
6 8

4x +15x <48x +24
~29x <24

24

X >—=

29

Question 5: (2 points)

Graph the equation .using the intercepts y =2x—4

Sol:

x-intercept (2,0)

y-intercept (0,-4)

A

v
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